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Shift-1

(Quantitative Aptitude)

QID: 101 - 4"+ 4" + 4 + 4 isdivisible by .
Options:

1) 7

2) 14

3) 17

4)9

Correct Answer: 17

QID: 102-
3 3
(1.1 +(0.7) ,?

What is the value of 5 5
(1.1} —1.1><D.?+[D.?]

(1.1 +(0.7)’
(1.1 =1.1x0.7 +(0.7)’

Options:
1) 0.4

T AT FIT &7

2) 0.7
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3) 1.1

4) 1.8
Correct Answer: 1.8

QID : 103 - For what value of N, 270N will be a perfect square, where 270N is a4 digit
number??

Options.

11

2)6

3)4

4) 9

Correct Answer: 4

QID : 104 - What least value should be added to 2505, 0 that it becomes a perfect square?
Options.

D5

2) 20

3) 70

4) 96

Correct Answer: 96

QID : 105-

What is the value of

9991 . 9991 1999 1 10991 L9991 7
2 5 12 20 30

9091 29001 10991 o091 L0001 F I
> 5 12 20 30
FIT EE?
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Options:
1)

999—

2)

999—

3)

4995—1
6

4)

4995°
5]

Correct Answer:

4995°
5]

QID : 106 - A, B and C together can complete awork in 20 days. A and B together can complete
the same work in 30 days. Then C alone can compl ete the same work in how many days?
Options.

1) 10

2) 30

3) 45

4) 60

Correct Answer: 60

QID : 107 - Vijay is 10% more efficient than Vikas. If Vikas can complete a piece of work in 33
days, then Vijay can complete the same work in how many days?

Options.

1) 25

2) 27

3) 30

4) 36

Correct Answer: 30

QID : 108 - After giving 20% discount on an article there is a profit of 20%. What will be the
profit percentage when no discount is given?

Options.

1) 40

2) 44

3) 54

4) 50

Correct Answer: 50
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QID : 109 - The marked price of acycle is Rs 5600. If two successive discounts of 10% and
15% are given, then what will be the selling price (in Rs) of the cycle?

Options.

1) 4284

2) 4200

3) 4214

4) 4314

Correct Answer: 4284

QID: 110-1f 2A =3B =5C, thenwhat isA : B : C?
Options.

1)2:3:5

2)5:3:2

3)6:10: 15

4)15:10:6

Correct Answer: 15:10: 6

QID : 111 - In what ratio wheat at Rs 32/kg should be mixed with wheat at Rs 24/kg so that on
selling the mixture at Rs 39/kg there is a profit of 30%?

Options.

1)3:1

2)2:3

3)1:4

4)2:5

Correct Answer: 3:1

QID : 112 - The average runs scored by a batsman in 7 matches is 53 and in other 9 matches the
average is 33. What is the average runs scored by the batsman in 16 matches?

Options.

1) 41.75

2) 44.25

3) 47

4) 49.175

Correct Answer: 41.75

QID : 113 - The average marks obtained by 150 students in an examination is 40. If the average
marks of passed students is 60 and that of the failed studentsis 20, then what is the number of
students who passed the examination?

Options.

1) 25

2) 50

3) 75

4) 100

Correct Answer: 75
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QID : 114 - A trader sold an article at a gain of 20%. Had he purchased it for 40% more and sold
for Rs 24 less, then he would have incurred a loss of 20%. What is the cost price (in Rs) of the
article?

Options.

1) 150

2) 300

3) 450

4) 600

Correct Answer: 300

QID : 115 - The cos price of a chair is 25% less than the cost price of atable. If aman sells5
chairs at the cost price of 7 tables, then what is his profit percentage?

Options.

1) 33.33

2) 45

3) 86.66

4) 96

Correct Answer: 86.66

QID : 116 - If theradius of acircle is decreased by 10%, then what will be the percentage
decrease in the area of circle?

Options.

1) 19

2) 20

3) 21

4) 23

Correct Answer: 19

QID : 117 - If A is50% morethan B. B is how much percent lessthan A?
Options.

1) 50

2) 100

3) 66.66

4) 33.33

Correct Answer: 33.33

QID : 118 - A car travels 20% slower than atrain. Both starts from point A at the same time and
reach point B 240 km away at the same time. On the way the train takes 48 minutes for stopping
at the gtations. What is the speed (in km/hr) of the car?

Options.

1) 80

2) 100

3) 120

4) 60

Correct Answer: 60
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QID : 119 - A scooter runs at a speed of 49 kmvhr after repairing and runs at 42 kmv/hr before
repairing. It covers a certain distance in 7 hours after repairing. How much time will it take to
cover twice of the distance before repairing?

Options.

1) 8 hours 10 mins

2) 12 hours 20 mins

3) 16 hours 20 mins

4) 18 hours 30 mins

Correct Answer: 16 hours 20 mins

QID : 120 - What is the difference (in Rs) between compound interest and simple interest for 3
years on aprincipal of Rs 1000 at the rate of 20% per annum?

Options.

1) 64

2) 120

3) 128

4) 136

Correct Answer: 128

QID : 121 - What will be the amount on Rs 25000 at the rate of 20% per annum compounded
yearly for 4 years?

Options.

1) 51840

2) 50350

3) 53550

4) 48750

Correct Answer: 51840]

QID: 122-
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The table given below shows the production (in ‘000

tonnes) of five companies from 2012 to 2016.

#=r & 2 arfererT F 9§ 2012 ¥ 9§ 2016 I U=
Fufardl & Seurea (‘000 e H) @&t T 7@ &l

Year /a¥
Company
e 2012 | 2013 | 2014 | 2015 | 2016

F 302 386 412 503 470
Q 376 402 444 529 501
R 250 268 302 298 276
S 350 360 372 398 362
T 403 450 504 597 602

What is the total production (in '000 tonnes) of company R from year 2012 to 2016?

Options.

1) 1276

2) 1444

3) 1394

4) 1502

Correct Answer: 1394

QID: 123-
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The table given below shows the production (in ‘000

tonnes) of five companies from 2012 to 2016.

#=r & 2 arfererT F 9§ 2012 ¥ 9§ 2016 I U=
Fufardl & Seurea (‘000 e H) @&t T 7@ &l

Year /a¥
Company
e 2012 | 2013 | 2014 | 2015 | 2016

& 302 386 412 503 470
Q 376 402 444 529 501
R 250 268 302 298 276
S 350 360 372 398 362
T 403 450 504 597 602

What is the average (in '000 tonnes) of total production all companies in year 20137

Options.

1) 371.1

2) 373.2

3) 378.4

4) 362.3

Correct Answer: 373.2

QID: 124 -
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The table given below shows the production (in ‘000
tonnes) of five companies from 2012 to 2016.

#=r & 2 arfererT F 9§ 2012 ¥ 9§ 2016 I U=
Fufardl & Seurea (‘000 e H) @&t T 7@ &l

Year /| a§
Company
e 2012 | 2013 | 2014 | 2015 | 2016
M 302 386 412 503 470
Q 376 402 444 529 501
R 250 268 302 298 276
S 350 360 312 398 362
T 403 450 504 597 602

Production of company R in year 2014 is how much percent more than the production of
company R in year 20137

Options.

1) 12.68

2) 11.56

3) 14.42

4) 15.31

Correct Answer: 12.68

QID: 125-
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The table given below shows the production (in ‘000
tonnes) of five companies from 2012 to 2016.

#=r & 2 arfererT F 9§ 2012 ¥ 9§ 2016 I U=
Fufardl & Seurea (‘000 e H) @&t T 7@ &l

Year/a§

Company
Soht 2012 | 2013 | 2014 | 2015 | 2016

302 386 412 503 470
376 402 444 529 501
250 268 302 298 276
350 360 312 398 362
403 450 504 597 602
Production of all companiesin year 2014 is how much percent less than the production of all
companies in year 2015?

Options.
1) 8.25

~| | DO O

2) 11.3
3) 14.4

4) 125
Correct Answer: 12.5

QID : 126 - What isthe length (in metres) of the longest rod that can be placed in aroom which
IS 2 metres long, 2 metres broad and 6 metres high?

Options.

18

2) 211

3) 311

4) 10

Correct Answer: 2411

QID : 127 - If the height of a given cone became thrice and the radius of the base remains the

same. What is the ratio of the volume of the given cone and the volume of the second cone?
Options.
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1)1:3
2)1:9
3)1:43
4)1:27
Correct Answer: 1:3

QID : 128 - If the angles of atriangle are (2x - 8)°, (2x + 18)° and 6x°. What is the value of 3x
(in degrees)?

Options.

1) 17

2) 34

3) 51

4) 60

Correct Answer: 51

QID : 129 - Two identical circles each of radius 2 cm intersect each other such that the
circumference of each one passes through the centre of the other. What is the area (in cm2) of the

intersecting region?
U ptrons

—-zf

Correct Answer:

—-zf

QID : 130 - What is the volume (in cm®) of aright pyramid of height 12 cm and having a square
base whose diagonal is 6v2 cm?

Options.

1) 864

2) 432

3) 144
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4) 288
Correct Answer: 144

QID: 131-

If x2—T7x + 1 =0, then what is the value of x+%?

e x2-7x+1=0 g, Eﬁx+%zﬁra=n?rm%?

Options.

17

2)3

3) 51

4) 47

Correct Answer: 7

QID: 132-

If x2—2x/ﬁx+‘l=0, then what is the value of x—%?

afE x2 -2 10x+1=0 8, a x—% T HTT FIAT &7

Options.

1) 4

2)6

3)3

45

Correct Answer: 6

QID: 133-
If 3N_‘1+5“'{_']+?E_1=0,*chen what is the value of

X y z

111,
Xy oz

3x—1+5y—1+?z—‘1=0 2 1+1+1m

X y z X oy .2

AT FIT 87
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Options.

1) -3

2)0

3) 15

4) 21

Correct Answer: 15

QID: 134-

If x2—3x + 1 =0, then what is the value of x* +i4?
X

gfgx2-3x+1=0%, & x4+i4$rmam%?
X

Options.

111

2) 18

3) 47

4) 51

Correct Answer: 47

QID: 135-
(a® +b%)(a—b)-(a—b)’ "

What is the value of 5 2
ab-ab

(8° +b%)(a~b)-(a-b)’

chl HIcd FT & ¢
a’b —ab? %?

Options.

1O

2)1

3)-1

4) 2

Correct Answer: 2

QID: 136-
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In the given figure, O is the center of the circle, A/PQR
=100° and £STR = 105°. What is the value (in
degrees) of L OSP?

& 2 Ea A OTH & g & LPQR = 100° FaT
/8TR=105° &I ~OSP & #e (fBafr H) =Fam &2

B %D
A1 \
£ |\~1L
If-f II| III \
f ||I Q III |
| I| J____.f"fl =g || I|I
[ e =L
II'-...‘II .--"{# H"‘HH.L,-'I
?‘H"‘*-. .-'"'-'-f.’?
SS____R
R -
S W
T
Options.
1) 95
2) 45
3) 75
4) 65

Correct Answer: 65

QID: 137 -

DONLQOADED FROM https://sscportal.in/

COURTESY :

SSC


https://sscportal.in/
https://sscportal.in/

DONNLOADED FROM https://sscportal.in/

In the given figure, EF = CE = CA, what is the value
(in degrees) of ~EAC?

&1 7€ MEa H, EF=CE=CA% df ZEAC@® AL

(fZalr 31) =Far geme?
D
\\
\}. C
96° (A
i |I \\
.ff I| %,
4 | N
.rf'l-r III \\\
.r"r I| \\_
7 | ,
frf I'. \\\
B A = F
Options.
1) 58
2) 64
3) 72
4) 32

Correct Answer: 64

QID : 138 - If length of each side of arhombus ABCD is 16 cm and ZABC = 120°, then what is
the length (in cm) of BD?

Options.

1) 24

2) 12

3) 16

4) 143

Correct Answer: 16

QID: 139 - In anisosceles triangle PQR, 2P = 130°. If | isthe in-centre of the triangle, then
what is the value (in degrees) of £QIR?

Options.

1) 130

2) 120

3) 155

4) 165

Correct Answer: 155
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QID: 140-
In the given figure, O is the centre of a circle of radius
13 cmand AB is a chord perpendicular to OD. If CD =
8 cm, then what is the length (in cm) of AB?

& T AFA #, OTF g orud = 138 &
&F Feg & JUT AB, OD & &Fdad TF Sar &) afe
CD=8 A &, a AB &fir sFars (@A #) =
&7

Options.

1) 6cm

2) 12 cm

3) 24 cm

4) 28 cm

Correct Answer: 24 cm

QID: 141 -
15sin” 6-3cos’8
5sin’6+3cos’ 8

If tan 8 = =, then what is the value of

LM

2 15sin? 8- 3cos’ B
Iofe tane=2Z & Ot T AT FAT &7
3 € 5sin® 8+ 3cos’ 6 €
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Options:
1)

33
32
2)
11
29
3
33
47
4)
1
32
Correct Answer;
33
47

QID: 142 - If V5 tan = 5 sin 0, then what is the value of (sin” 0 - cos’ 0)?
Options.

1) 3/5

2) 15

3) 4/5

4) 2/5

Correct Answer: 3/5

QID: 143-
What is the simplified value of

T+ 3 .4sin?0?
sec 8 1+cot”8

sezz ¥ r:,ec':tz - +4sin? 8 T TIPT AT FAT &7
_|_

Options.

1) 3

2)4

3)5

47

Correct Answer: 7
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QID : 144 - Two posts are 4 m apart. Both posts are on same side of atree. If the angles of
depressions of these posts when observed from the top of the tree are 450 and 600 respectively,
then what is the height of the tree?

Options.

1)V3+1

2) V3(\3 + 1)

3) 2(N3 +1)

4) 4N3(\3 + 1)

Correct Answer: 2(¥3 + 1)

QID : 145- If cosec 6 + 3 sec 6 = 5 cosec 0, then what is the value of cot 6?
Options.

1) 4/3

2) 3/4

3) 143

4) 3

Correct Answer: 3/4

QID : 146 -

The given pie chart shows the runs scored by 5
players in a match.

o 7w 9@ =y # 5 Ryenfzal g a9 7w & &
I 14T &

[ TR

Pujara/ Yuvraj/

IoRI, 76 | arer, 82

Sharma/

AT, 68

Kohli/
Higal, 102

Dhoni/
=T, 52
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The runs scored by Kohli are how much percent more than the runs scored by Sharma?
Options.

1) 100

2) 33.33

3) 66.66

4) 50

Correct Answer: 50

QID: 147 -

The given pie chart shows the runs scored by 5
players in a match.

o 7w 9@ =y # 5 Ryenfzal g a9 7w & &
I 14T &

[ TR

Pujara/ Yuvraj/

IoRI, 76 | arer, 82

Kohli/
Higal, 102

Dhoni/
eflT, 52
Runs scored by Kohli iswhat percent of runs scored by Y uvragj?
Options.
1) 124.39
2) 134.21
3) 113.13
4) 126.67

Correct Answer: 124.39

QID: 148-
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The given pie chart shows the runs scored by 5
players in a match.

o 7w 9@ =y # 5 Ryenfzal g a9 7w & &
I 14T &

[ TR

Pujara/ Yuvraj/

IoRI, 76 | arer, 82

Sharma/

Dhoni/
=T, 52
Runs scored by Pujarais what percent of total runs scored by these 5 players?
Options.
1) 25
2) 30
3) 20
4) 23

Correct Answer: 20

QID: 149 -
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The given pie chart shows the runs scored by 5
players in a match.

o 7w 9@ =y # 5 Ryenfzal g a9 7w & &
I 14T &

[ TR

Pujara/ Yuvraj/

IoRI, 76 | arer, 82

Sharma/

Dhoni/
=T, 52
What is the central angle (in degrees) made by the sector of runs scored by Y uvrag?
Options.
1) 77.68
2) 74.64
3) 72.12
4) 79.34

Correct Answer: 77.68

QID: 150 -
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The given pie chart shows the runs scored by 5
players in a match.

o 7w 9@ =y # 5 Ryenfzal g a9 7w & &
I 14T &

[ TR

Pujara/ Yuvraj/

IoRI, 76 | arer, 82

Sharma/

If runs scored by Rahane is 50% of the runs scored by Y uvraj, then runs scored by Rahane is
what percent of total runs scored by Kohli, Pujara and Dhoni?

Options.

1) 16.41

2) 17.82

3) 18.92

4) 16.31

Correct Answer: 17.82
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